Y6 - Autumn - Block 2 - Step 1 - Add and subtract integers Answers

Question Answer

30 5/9 4
+ 1/5/4/23
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4'7'a 8 9"
- 5236
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1 c)
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2
b) 4,604
2,354 750 1,500
c) 1,057,001
d) 555555
8,000,500 — 6,100,000 200,000
1,250,000 + 900,000 one million
3 double 600,000 2 7 million
123,999 + 84,178 2 million

For each calculation, we need to decide what to round to.




Y6 - Autumn - Block 2 - Step 1 - Add and subtract integers Answers (continued)

Question Answer

b)
219]0]s5 |5
-12|0]o|s
Olo|0|0O}s
4 c)
8|2]4|8/5|9
-13/6|9 4
4|5|/5|/5 /5|5
d)
2/1]9|8 5
+|1]9)o 6|7
4/1/015]|2
a) 87,600
5 b) 262,650
c) 713500
6 The difference between A and B is 275,000
multiple possible answers, e.g.:
975 - 130 =845
7 closest answer to 500:
597 - 103 =494
8 any number between 2,050,045 and 2,050,054




